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Mcgraw Hill Questions and Answers

1] Mgy wants (o save mgrey Tor her son’s college tuition, She deposrs 51200 st the end of sach year in
an ordingry annuity that pass U% indersessk, compounded annually

Giriiar @ach part. D@ rdal rourd any intermediaie Com@uiatng N ardesers

aiFired the Lefal vakoe of the anfgity &1 Lhe and ol the 17 year

iFind thee totad valee of the annwty ot the end of the 2 yea

CiFing the tatsl valiss al the sanuny at the and af fhe 5 gy

[Tty

fajFinding cha tetal valive of the annuity at tha end'ol the 17 yaar

G rhe el ofthe 17 year, ary makes a 51700 g

“rece bhe oEgment 1= mads 31 the and ofithe . ¥ agr tha 51200 paemant doss mok marn inferesbin g

2o, the totalwalts of the annuity a the ard of the 17 pear is 51200

{ls|Fireding 1hee tofal valuse al the amnieity @ e end of ihe 27 VeI

G% the mrd of BhE 2w s flary makes arather 51200 pavmerd. Sl the 51300 principal Fram thes pregioos

Ear Earms 9% inberest

Hiri it o table that describas thee aniounts that cantribiote 1o the total valuie of the anraity at the ard of the
T I-.'|.

Princgal at the end af the 17 yeas S1200

Interest sarned during thee 1%year, | =51200|0009) = 5108
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Payrnent at the end af The S~year, | 51200

Whe sdd the srnaunts in The tabke oo fing the 1atal valiss of the anrgity @t the end af the 2"ges
" - F e
=51 20045108 + 51300 = 5250

{chFinding the total wale= of the annuity at the =nd of the 3 y=ar
A1 the and al thie 3 wear, Mary makes anathers 51200 paymwend . Alse the 52508 princgal ram the gresacis
EAr BArTy Y mberest,

Haire = a tabe that geseribes the amaints that contrilbuate to the folal wakie al thie annuity &1 the and al ths

M ppar

Descripteom B meunk

Prircipal at the end of the 2 year, | 52508

Interest earned during the 27 wear, | =52508&(000%) = $225.71

Payment at the end af the 3 year. | 51300

We add the aenoufiESimIRetabre 1o ringl chaatoleg U of ™e annily of haend ai 1he (57 g ar

= GIG0E + S125T + 21200 = 53831, 72

2} On June 1 the home mortgage balance was 5192, 000 for the home owned by Amy Morgan. The interest

rate for the Boan is E. 125 percent. Assuming That Amy makes the June monthly mengape payment of $1536
coakalate the lallewing

la] Thee amooin® @biniamstmeliced n the lune gayment drourd your answer 1a the nearest cent)

B The amau DS themanihly marmgage payment That will b used oo redoce the principal balanie
! The new balame= afte=r l'..l'-.- makes tnis monthikly mortgage paymsnd
B €
ol
Irkerest = Frincgal (P « Fate [R) © Tne (T)

1
51 MHE = B 1 E5%g = —

b R AR LR U P
5 a0

=]
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Io detdimming the princpal reduction amount, sulbbrect the manthly intarest from the manthly martgag

5
HETS D]

Prinooal reeduction amiount = Monthly morgage pagment - Interast amount Tor the month

= 5556 - 51300 » 5236

|

‘o ralculate the ey princpal palance, subtract the porcipal reducton amount from the prircipsl balance at
e haginning of [me manih
Meve pineipal balanos & Balance an Judie L Princioal redwciam s ol
5197 O - 5236
A

= 5151 Fad

3 Christine is taking aul a mongage fer 253,000 te biy & ndw house and is decideng bevaeen the affers
Iraims o ledars. She wanis to ko which o wiouild be The Batter doal avar the e of the mortgage
baan, and by heaw miich.

Brmvanr gach part. Do mdl raund inftermgdiats COmutatices el ikl sodFamgiers 1a the riaies Lol

ai b zavings and |camassesiationr hias of farad ey, 10- vear morigse=kaen at on annualppt=rez: robe of
4.7%, Find the manthly payment

=) Har credit fifficen has alferad Per o S0 mortgage 1880 2180 Snalsl iGleresi s ol 3.5%. b tha

et Ehly A i

cl SupposEChaEtine pays the morthly pagmeEnt =ach ™otk for the Tl term, Whech lerder’s mortzae= loan
arauld havethe o veszt total amount 3o pay off, and by how much?
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1) Themse vabis ardd the ALEE aloylaban we qek fhe tediond ng

I" 1l (&
15K |'|:|-'I |
1 : m—_ |3XE0ES

ond7

Founded to the rearest cant, the monthly payment to the savings and loan assooation wowd be $1538.09

() Fengenp the monthly payment for the cradit unsomn offer

Wie haye the follgaarg

3 theE vl el IR [ o T g T e Tl
-'|:||'|I-.'
sgoan —

o Er]

Eouanded he fearest canl, e msanchly pawtent o the credit

uld b 5095 47

(€] There wonlgBe ST = 160 payments bo the spangs and lnan adiacaticen and 40 « L7 = 80 payrments 1o

Ehe= Creoht Lo

W fird the total amount to pay off 2ach mortgagpes loam by mulgiphang the maonthly payment by the numiber

ol pagments

Savings and loan: 13358 0% ¢ Shi = 48], F12.40

Credit union: 999,47 « 380 = 5379, ¥a5 &0

Sio. the total smount pasd to the credit union wow'd be smaller, We subtract 1o find how much

SARL 713,40 - 5479 T45 60 = 51906 50
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4] Kaila has daided 1o snivest 0o hiolp with b relinement savings. Hovwe misthossauld she haes 10 insdst 1a
haue 53148, 700 after 18 pears, afsumeng am etarasl ratd of 2.40% compaunded annsally*

T
Compound Intarest Farnsuls
s 5 Hara A 5 thie feturs SmasEnt in the acosunt, & 15 the principal {tha amont
i Ihl'-. . I_wl inuagted], & s Tha anreal emerest rate, o i e numbar of dires & paar
T

the intessyl g ceenpoundad and ¢ Lhe Peren ol tha caeclimsel i yaars

We are looking for the principal Kala nesds to irest. %0, we solve the compourd interest formula for @

Ate heve the foligwarg far this prablem

q & 148 700

LI LY R EE
a =

id ymars

Using these weUEsand che ALEES caloblangs, w8 oer the Talhaswig

|45, O
_l-' s 5 _: I-_l_-ll"

ral 1
[: ““:\.__L-\.\,l [ NE-]
I.
|

Heunded Lo the b el dalie (e srmourd Kals rmyst imeest s 581 318

This is a list of shorecoble MeGraw Hill Connect answers
that we have prepared for you!

5| The pasii ol arsbem has risen (e 5261 teday, Testerday it was S1R0. Firsd glee percentage miregie
s ) wée start by hirsding hoe much the price mireaseg Fram s e Ay
firmcunt of increpse: 2161 - 5180 = 281

ki'm mesg boowaribs Bae amsaunt ab ikcreass gy 5 perosnfapge el -,'-ll-lrl.-l'l'- price

To do this, we ferst drode the amourd of ircreass by yesterday's prics
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amaint of incressa E|
Yasterday's price | &0

=
=
]

We then conveert Bhes o 5 percentsge by multiplying by |05

Farcantaga iniréaass: IR :I.-1-"l:' e e ol |

bj Teresa wanis 10 buy a new car but eepds maoney for the dovwn payment, Her parenits agree to lend her
meoney at an amnual rate of 1%, charped 3= simple interest, They lerd her 52000 for 4 years, She makes no
paymerits excepd the one at the =nd of that time,

|a1 Hiaw much tetal infeeadl aqll Tearsawa haus Lo gy’

|b| Wamiat weill shee total repayment amaownt be includng mberess )

B
Simple Interest Foomosls

= Fr¢  I'ethe tofal inderest =arned or paid
s e principal (agmount mvested or loanad)
¢ iz the annual irterast rate |as a decimall

¢ Ehe berm ool the invastrient o boan in vears

lal

Far aur pReEEm w#e hayve the halkeweng

= R2MH
RS P
[

Idsineg thease yahees ard chie ALEES cakculator, me get che falawing

Joo IO 0T HE) - 1R

Sa, the total interest = 5160

|B] T lind the retal ams@unt jalia callad Tumure vaklie ), doe add the grincipal and the interest

Total repaymnent amcunt = 52000 + 160 = 52 180

1
]
=]
(X
m
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-”J!m item oosts 5440 before tax, and the sales tax is S26.80. Find the sales tax rate.

#ns) To find the sales tax rate, we divide the sales tax by the cost before tax.
Sales tay rate: % = (G
We corvert this rate to a percentage by multiplying it by 100

100 x 0.06 = &%

%o, the salas tax rate is 6%

B) A carnera has a listed price of $811,99 before tax, If the sabes tax rate is 9.75%, find the total cost of th
camera with sales tay included, Round your answer to the nearest cent, as necessary.

Ans) The sales tax is 3.75% of 5811.99, and we calculate it as follows,
First, we change 9.75% to a decirmal.
9.75% = 0.0a75

Then, we multiplg
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